= AH O
N = 0l &t 2 H A A
20MEE =F 1 3 LdEg) ActeTAEA ~ Mot AIE A
AGHE AR A
A= 2R
sSHEXNG0ISASE HEE 32 P A
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ 2
P S AP A 26,700,812 26,434,662 266, 150
= 9,183,000 9,183,000 0
z 5,209,000 5,209,000 0
< 1,410,300 1,445,300 /35,000
= 10,898,512 10,597,362 301,150
Atz 22 9,406,619 9,441,619 35,000
=z 4,609,000 4,609,000 0
== 51,300 86,300 A35,000
= 4,746,319 4,746,319 0
sHEXNS0ISsMdsE ¥ B2 1,814,619 1,849,619 235,000
2 633,000 633,000 0
< 51,300 86,300 35,000
= 1,130,319 1,130,319 0
MHMEHAIS (St A X2 D) 15,000 50,000 A35,000
[==4 15,000 50,000 35,000
401 Al&HI L 20 15,000 50,000 35,000
< 15,000 50,000 35,000
01 Al&HI 15,000 50,000 35,000
O350l 2328 S24AE HAHZA
23 15,000,000 15,000 50,000 35,000
= 15,000 50,000 35,000
2205t 5 22l 12,748,205 12,456,555 291,650
=2 6,831,000 6,831,000 0
2 600,000 600,000 0
== 1,359,000 1,359,000 0
= 3,958,205 3,666,555 291,650
oSt HelANE2d 904,245 901,595 2,650
otrHelAlE2d el 583,261 580,611 2,650
101 Q124 H] 27,660 25,010 2,650
04 JIZtHIZ22HSE S 27,660 25,010 2,650
oAEZzIoR 27,660 25,010 2,650
Ogezexd 53,0002 »1H x50 2,650 0 2,650
SH2tHANY 3,028,000 3,011,000 17,000
= 2,038,000 2,038,000 0
o 990,000 973,000 17,000
of=2t HEHIALS 0 2,911,000 A2,911,000
= 0 2,038,000 2,038,000
= 0 873,000 873,000
401 AlEHIZE20I 0 2,911,000 A2,911,000
= 0 2,038,000 A 2,038,000
= 0 873,000 873,000
01 Al&HI 0 2,744,000 A2,744,000
OS2 EHIAIL [ME AL B A ]
0 738,000 A738,000
= 0 518,000 518,000




2A: Adtx=TAIE A
Mz ZEolx=T 22
oS ot=&AAES (&9 HM
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
= 0 220,000 A 220,000
ONHEHGIEZHEHIAIL [HIEAEHA]
348 o0& 0 1,058,000 A 1,058,000
=2 743,000 AT743,000
= 0 315,000 A 315,000
OLNESot=ZH2HHEHI AL [MEAIGHZA]
348 o0& 0 948,000 948,000
= 0 665,000 A665,000
= 0 283,000 A 283,000
02 Zeldl 0 160,000 A 160,000
OHHEota=2 HEHIAIL [HIEAIEHA]
28 03 0 50,000 50,000
= 0 35,000 A 35,000
= 0 15,000 A 15,000
ONBHGIE=ZHEHIAIL [HIEAIEHA]
33 0& 60,000 A60,000
= 42,000 A42,000
= 0 18,000 A 18,000
ONNE ST H2UHEBIAIS [MEAIEHE ]
338 0& 0 50,000 50,000
= 0 35,000 A 35,000
= 0 15,000 A 15,000
03 Al =20HYI 0 7,000 A7,000
O SEot =2 N EHIAIL [MSE A B1A ]
33 0& 0 2,000 A2,000
ONHBHGI L2 HEHIAIL [HIEAEHA]
38 o0& 0 3,000 A 3,000
OLNESot=ZH2HHEHI AL [MEAIGHA]
28 03 0 2,000 A2,000
HEBOHGI=2HEH ALY 1,138,000 0 1,138,000
= 785,000 0 785,000
= 353,000 0 353,000
401 Al &HI L 204 1,138,000 0 1,138,000
= 785,000 0 785,000
= 353,000 0 353,000
01 Al&H| 1,067,000 0 1,067,000
OHEBHOIE=ZHEHIAIL [HIEAEHA] 1,067,000 0 1,067,000
= 743,000 0 743,000
= 324,000 0 324,000
02 Zeldl 68,000 0 68,000
ONHBHGIZHEHIAIS[HIEAISHA] 68,000 0 68,000
= 42,000 0 42,000
= 26,000 0 26,000
03 A&=20dl 3,000 0 3,000
OHEHGIEZHEHIAIL [HIEAIEHA] 3,000 0 3,000
DE S0t H2H H A HI ALY 1,000,000 0 1,000,000
= 700,000 0 700,000
= 300,000 0 300,000
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401 AIEHIZ 208 1,000,000 0 1,000,000
= 700,000 0 700,000
= 300,000 0 300,000
01 Al&H| 948,000 0 948,000
ONHESot==ZH2HAHBHIALY [MS AL 948,000 0 948,000
= 665,000 0 665,000
= 283,000 0 283,000
02 2feldl 50,000 0 50,000
ODNHESot=Z H2HAHFBIALL [M ALY 50,000 0 50,000
= 35,000 0 35,000
= 15,000 0 15,000
03 A&=20HYI 2,000 0 2,000
ODESot=Z H2HH A AL [M A H 2,000 0 2,000
tH=ot=2tHEHIALS 790,000 0 790,000
= 553,000 0 553,000
= 237,000 0 237,000
401 AIEHIZ 208 790,000 0 790,000
= 553,000 0 553,000
= 237,000 0 237,000
01 Al&H| 738,000 0 738,000
O Eot+=2 HEHIAIS [HIRAIE H A ] 738,000 0 738,000
= 518,000 0 518,000
= 220,000 0 220,000
02 2feldl 50,000 0 50,000
Ol Eot=ZAHEEIAL [ME 50,000 0 50,000
= 35,000 0 35,000
= 15,000 0 15,000
03 A&=20HYI 2,000 0 2,000
Ol E5t=2 HEHIAIS [HI £ 2,000 0 2,000
=Xl & A 8,583,000 8,311,000 272,000
= 4,793,000 4,793,000 0
& 600,000 600,000 0
= 1,359,000 1,359,000 0
= 1,831,000 1,559,000 272,000
ot==HelAlZ & X 200,000 5,625,000 5,425,000
= 0 3,798,000 A3,798,000
S 0 813,500 A 813,500
= 200,000 1,013,500 A813,500
401 Al&HIZL=ROHYI 200,000 5,625,000 A5,425,000
= 0 3,798,000 A 3,798,000
= 0 813,500 813,500
i 200,000 1,013,500 A 813,500
01 Al£Hl 200,000 5,520,000 /5,320,000

OHNFHot==HelAIZE X ALY

% 4,897,000 4,897,000
= 3,430,000 A3,430,000
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SN -HH - SA(B) - MRAY - BES Aol I HRE2
= 735,000 A735,000
= 0 732,000 AT32,000
OICIBICH 95t H 2l & & XA M2 A1 2]
2% o2 0 332,000 A332,000
3 0 234,000 234,000
= 0 50,000 A 50,000
2 0 48,000 48,000
G EESEWETNEETEES
23 0 0 91,000 291,000
= 0 64,000 264,000
& 0 13,500 A 13,500
i 0 13,500 213,500
02 Zeldl 0 100,000 A 100,000
OHBOUTHEHEI AL AT ALY (MR AIS B ]
28 0¥ 0 100,000 A 100,000
= 0 70,000 A70,000
= 0 15,000 A 15,000
= 0 15,000 A 15,000
03 Al =R0HHl 0 5,000 25,000
OHB G =M AL AT AL (MR AT #12 ]
3 02 0 3,000 A3,000
OAICIOICH9I5 =M el & & XA M2 A 81 ]
28 0¥ 0 2,000 A2,000
HEOISot==&EHIA S 0 ,486,000 A 1,486,000
= 0 995,000 A995,000
= 0 245,500 245,500
= 0 245,500 A 245,500
401 A &HIZL 2048 0 ,486,000 A 1,486,000
= 0 995,000 A 995,000
= 0 245,500 A245,500
= 0 245,500 A245,500
01 Al&H| 0 ,482,000 A 1,482,000
NS0 E0IS5H =T HHIAY [HIRA S # H]
28 03 0 644,000 A644,000
= 0 452,000 A 452,000
= 0 97,000 A97,000
i 0 95,000 295,000
OU SO EDISOI TS LAY [HRAL ]
oo* 0 0 725,000 AT25,000
= 0 509,000 A509,000
= 0 109,000 2109,000
= 0 107,000 A 107,000
OHE SO ENSTI T HTAIY [HZAILBIH]
28 0¥ 0 113,000 A 113,000
= 0 34,000 A 34,000
= 0 39,500 239,500
= 0 39,500 A 39,500
03 AIZ20i4l 0 4,000 24,000
OAZE0E0IS5I =T HHIA [HRA A
28 0¥ 2,000 22,000
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AN ot A A
M2 ZJo4E e
el ot=XalE ALY (etel: =3
SN EB -GS - MBAY - BES 0 &4 o o173 o HZ2
OYtsHEMSoH-CSEAS[MEALHA]
38 0¥ 0 2,000 22,000
HotsHEDNSOH=ESE MY 727,000 0 727,000
= 509,000 0 509,000
S 109,000 0 109,000
= 109,000 0 109,000
401 Al&HI YR OHYI 727,000 0 727,000
= 509,000 0 509,000
= 109,000 0 109,000
= 109,000 0 109,000
01 Al&HI 725,000 0 725,000
OHsHENSoICSEAL[MEALHG] 725,000 0 725,000
= 509,000 0 509,000
= 109,000 0 109,000
= 107,000 0 107,000
03 AIE=20bl 2,000 0 2,000
OHsHENSo-CSEAL[MEAILHI] 2,000 0 2,000
tdEsHEOSH=Z=FEEIALS 646,000 0 646,000
= 452,000 0 452,000
S 97,000 0 97,000
s 97,000 0 97,000
401 Al&HI LS04I 646,000 0 646,000
= 452,000 0 452,000
= 97,000 0 97,000
= 97,000 0 97,000
01 Al£Hl 644,000 0 644,000
OMESHENISoI=CHUIAIL [MEAILHE] 644,000 0 644,000
= 452,000 0 452,000
= 97,000 0 97,000
= 95,000 0 95,000
03 AIZ=20bl 2,000 0 2,000
O E=HE0ISot=SZ AL [MRAIEHA] 2,000 0 2,000
HRHGt=H 2 AIE XA 5,272,000 0 5,272,000
= 3,500,000 0 3,500,000
S 750,000 0 750,000
= 1,022,000 0 1,022,000
401 Al&HI YL S04 5,272,000 0 5,272,000
= 3,500,000 0 3,500,000
= 750,000 0 750,000
= 1,022,000 0 1,022,000
01 Al&HI 4,897,000 0 4,897,000
ONFREGt=HM AL EXIAS 4,897,000 0 4,897,000
= 3,430,000 0 3,430,000
= 735,000 0 735,000
= 732,000 0 732,000
02 Zeldl 372,000 0 372,000




AN ot A A
& ZFot=E 22
el ot=XalE ALY (etel: =3
SA-EFH - SA(SAH) - MREAY - BES Off &F K I8N BlusZ
ONZHot=HelAEE MG [HRAISEHEA] 372,000 0 372,000
= 70,000 0 70,000
= 15,000 0 15,000
= 287,000 0 287,000
03 AI&=20HYI 3,000 0 3,000
ONZHotHMelAEE MG [HFAISEHEA] 3,000 0 3,000
AMEHCR(ot =Xl & & XA 334,000 0 334,000
= 234,000 0 234,000
S 50,000 0 50,000
= 50,000 0 50,000
401 AIEHIZL 20U 334,000 0 334,000
= 234,000 0 234,000
< 50,000 0 50,000
= 50,000 0 50,000
01 Al&HI 332,000 0 332,000
ONGHEAGH = HMAZEI AL [MAIEHE] 332,000 0 332,000
= 234,000 0 234,000
= 50,000 0 50,000
= 48,000 0 48,000
03 A& 2,000 0 2,000
ONEHHAGH=HMAZEII AL [MFAIEHE] 2,000 0 2,000
HQESHENSOH=ZIHEAS 113,000 0 113,000
= 34,000 0 34,000
S 39,500 0 39,500
= 39,500 0 39,500
401 AIEHIZL 20U 113,000 0 113,000
= 34,000 0 34,000
< 39,500 0 39,500
= 39,500 0 39,500
01 A&l 113,000 0 113,000
OYHsHEMSot=SHBAIS [MEAILHA] 113,000 0 113,000
= 34,000 0 34,000
= 39,500 0 39,500
= 39,500 0 39,500
ot=Xcl==THO0I = At 91,000 0 91,000
= 64,000 0 64,000
= 13,500 0 13,500
= 13,500 0 13,500
401 AlIEHIZ 208 91,000 0 91,000
= 64,000 0 64,000
s 13,500 0 13,500
= 13,500 0 13,500
01 Al£Hl 91,000 0 91,000
Odt=HMel=TolI M [HMRAIEHE ] 91,000 0 91,000
= 64,000 0 64,000
s 13,500 0 13,500
= 13,500 0 13,500
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SH: AEHe
XN JRs

Pl HEHHXIE (A5t AFE A ) (el =3
A (2AH) - MEAS Aol I8N BlusZ
4,453,500 4,444,000 9,500
= 2,352,000 2,352,000 0
= 2,101,500 2,092,000 9,500
HEHAH KIS (AotSAIE ) 2,101,500 2,092,000 9,500
JHEES 23,000 13,500 9,500
HEES 23,000 13,500 9,500
SIANES 23,000 13,500 9,500
O=ZINHSEIHEES 23,000 13,500 9,500
HOot0tSot==2 4 33 8,000 3,900 4,100
O 30tSot===2E| 38 2,000 1,800 200
O=sgitsot==249| 38 8,000 3,900 4,100
SOtSot==23 4| 38 5,000 3,900 1,100
St AR A) 2,352,000 2,352,000 0
= 2,352,000 2,352,000 0
St=HMelEESHACI S 0 2,352,000 2,352,000
= 0 2,352,000 2,352,000
311 XL =0I1Ata e 0 332,000 /332,000
= 0 332,000 /332,000
06 JIEtXIY SO0l AH& e 0 332,000 332,000
ODNHEot+ZSLHUABEIANLEXNSOI N
NI AI S A ] 38 03 0 273,400 A273,400
= 273,400 A273,400
ONHEGt+=ZLHelEZ DT AMEALESAS0I
KatsHMSASH ] 38 03 0 39,800 239,800
= 0 39,800 39,800
Oldot=S2Xeld=d X MelA LML EXS
Ol RH&HEH MR AR B A ] 23 0 0 18,800 18,800
= 0 18,800 18,800
601 XSS 0 2,020,000 2,020,000
= 0 2,020,000 2,020,000
06 JIEI=2UXIL =S4 0 2,020,000 A2,020,000
OLnYot+ZLHUZEIIAMNLENS RS E]
NS A HA] 323 0& 0 1,791,600 1,791,600
= 1,791,600 21,791,600
ONAEGH+=ZSLHelENEH2ANEALEXS R
SASHEALHH] 23 0 0 149,200 149,200
= 149,200 149,200
ONHdot+=SZ XMl HMelAEAMLEF
ASHE[NRALHAE] 23 0 0 79,200 279,200
= 0 79,200 279,200
Dot HelZLEXANSENACI S 2,065,000 0 2,065,000
= 2,065,000 0 2,065,000
311 XL =0I1Ata e 273,400 0 273,400
= 273,400 0 273,400




SA: ot AIE A
Hu: REs
el BEMXE(MotZAE D) (ctel &)
SNBSS - HRAY - BHES 0l &k o4 o1& o HlnE2
06 JIEFX SO0 At&e 273,400 0 273,400
ONHot+=HMelEEXAML SRS 0| AHASME
A EA] 273,400 0 273,400
= 273,400 0 273,400
601 XL ZAAFae 1,791,600 0 1,791,600
= 1,791,600 0 1,791,600
06 JIEt=UXIL S =4 1,791,600 0 1,791,600
ONHot=HMel B2 &ML SAIASAS[ME
AN HA] 1,791,600 0 1,791,600
= 1,791,600 0 1,791,600
Dot ZDEXHeAMEAMT SRS o 189,000 0 189,000
= 189,000 0 189,000
311 X2 =0IAt&e 39,800 0 39,800
= 39,800 0 39,800
06 JIEFX 30l AH&te 39,800 0 39,800
ODnEot=HMelEDEMeANEAMLES NS0 ALY
BHMSAEHA] 39,800 0 39,800
= 39,800 0 39,800
601 XS =4E 149,200 0 149,200
= 149,200 0 149,200
06 JIEt=UXIL S 34 149,200 0 149,200
ONHSt+MHel B DT HeAANLEAMLESASAS Y
BHAMSAEHA] 149,200 0 149,200
= 149,200 0 149,200
DS HAHEESHXN M ANEMT BRI 2S4S 98,000 0 98,000
= 98,000 0 98,000
311 X2 =0l At&e 18,800 0 18,800
= 18,800 0 18,800
06 JIEFX 30l AHatet 18,800 0 18,800
ODndot=HelE=d N MelAlIEAIE & A S0l At
ASHHNSAIEHZ] 18,800 0 18,800
= 18,800 0 18,800
601 XL S=4E 79,200 0 79,200
= 79,200 0 79,200
06 JIEt=UXIL S 342 79,200 0 79,200
On4otrHelEsdNMelNELLENSES
ASHHNSAIEHZ] 79,200 0 79,200
= 79,200 0 79,200




